o The bacterial cell went through a series of changes to ultimately become a
mitochondrion
o The eukaryote helped the bacteria by providing protection and carbon
compounds
o The bacteria became able to provide the eukaryote with ATP
> Evidence to support the theory:
o Mitochondria:
m Are about the size of most bacterial cells
m Divide by fission, as do most bacterial cells
m Divide independently of the host cells
m Have their own DNA, which resembles more the DNA of a prokaryote
than a eukaryote
m Have their own ribosomes, which allows them to produce their own
proteins
m Have 2 membranes on the exterior, which is consistent with an
engulfing process \4
o Chloroplasts:
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The 64 codons
> All genetic molecules include codons that code for different parts of the proteins
o 3-letter combination of DNA coding for a specific amino acid
> Injnearly all organisms the same codon makes the same amino acid
o Slight variations, due to evolution
> Mitochondria have a DNA code that resembles more bacteria than eukaryotes
o The more DNA two organisms have in common the more closely related

they are to one another



